



fem brøker, rækkefølge af operationer med
parenteser

Navn: _____

Dato: _____ Score: _____

$$(2 - \frac{1}{2})^2 - \frac{3}{4} - \frac{1}{2} \times 3^2 =$$

$$(\frac{3}{2} - (\frac{3}{4})^2) \times \frac{2}{3} - (\frac{3}{5} - \frac{1}{3})^2 =$$

$$((\frac{1}{5})^2 + \frac{1}{3}) \times \frac{1}{3} - (\frac{3}{5} + \frac{2}{3})^2 =$$

$$(3 + \frac{2}{5})^2 + \frac{3}{2} \times \frac{1}{2} + 3^2 =$$

$$((\frac{2}{5})^2 + \frac{1}{3}) \times \frac{2}{3} - (\frac{1}{3} + \frac{1}{3})^2 =$$

$$(\frac{1}{6} - \frac{3}{5})^2 - \frac{1}{4}(\frac{1}{2} + \frac{1}{2}) =$$

$$(\frac{2}{5} - \frac{1}{2})^2 - \frac{1}{2}(\frac{3}{5} + (\frac{1}{2})^2) =$$

$$(\frac{2}{3} - (\frac{1}{4})^2) \times \frac{1}{5} - (\frac{1}{2} + \frac{1}{2})^2 =$$

$$(5 + \frac{1}{2})^2 - \frac{1}{3} \times \frac{1}{2} - 3^2 =$$

$$((\frac{1}{2})^2 - \frac{2}{5}) \times \frac{1}{3} + (\frac{1}{3} - \frac{1}{5})^2 =$$



Navn: _____

Dato: _____ Score: _____

$$(2 - \frac{1}{2})^2 - \frac{3}{4} - \frac{1}{2} \times 3^2 = (-3)$$

$$(\frac{3}{2} - (\frac{3}{4})^2) \times \frac{2}{3} - (\frac{3}{5} - \frac{1}{3})^2 = \frac{997}{1800}$$

$$((\frac{1}{5})^2 + \frac{1}{3}) \times \frac{1}{3} - (\frac{3}{5} + \frac{2}{3})^2 = (-\frac{37}{25}) = (-1\frac{12}{25})$$

$$(3 + \frac{2}{5})^2 + \frac{3}{2} \times \frac{1}{2} + 3^2 = \frac{2131}{100} = 21\frac{31}{100}$$

$$((\frac{2}{5})^2 + \frac{1}{3}) \times \frac{2}{3} - (\frac{1}{3} + \frac{1}{3})^2 = (-\frac{26}{225})$$

$$(\frac{1}{6} - \frac{3}{5})^2 - \frac{1}{4}(\frac{1}{2} + \frac{1}{2}) = (-\frac{14}{225})$$

$$(\frac{2}{5} - \frac{1}{2})^2 - \frac{1}{2}(\frac{3}{5} + (\frac{1}{2})^2) = (-\frac{83}{200})$$

$$(\frac{2}{3} - (\frac{1}{4})^2) \times \frac{1}{5} - (\frac{1}{2} + \frac{1}{2})^2 = (-\frac{211}{240})$$

$$(5 + \frac{1}{2})^2 - \frac{1}{3} \times \frac{1}{2} - 3^2 = \frac{253}{12} = 21\frac{1}{12}$$

$$((\frac{1}{2})^2 - \frac{2}{5}) \times \frac{1}{3} + (\frac{1}{3} - \frac{1}{5})^2 = (-\frac{29}{900})$$